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Note :— Attempt all the Sections as per instructions.
Wit @vel ® FRAEER & FR
Section-A (T@Us-3)
Very Short Answer Type Questions
(afa =g I9dT ) 2x5=10

Note -~ Attempt all the five questions. Each question carries
2 marks. Very short answer is required not

exceeding 75 words.
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I. Slash and burn agriculture

@ Fh

2. Rotational intensity

HHA-Th  FEHA

3. LLES.R.

4. B-C ratio

TY-TANTT I

5. Crop cafetaria

RERIS R
Section-B (@US-)
Short Answer Type Questions
(e ST ¥F) 5%2=10
Note :— Attempt any fwo questions out of the following

three questions. Each question carries 5 marks.
Short answer is required not exceeding 200 words.

frefafaa @4 v 8 4 fEE @y & IW
Ao yAF T 5 IR w1 w1 Alumad 200

vl § oy IR Aifea R
6. Differentiate between type and system of farming.

I 3 YER T TRl § IR W KA

NR-188 (2)

https://www.ccsustudy.com



7. What are the possibility of second green revolution o wifid ¥ o9 ¥ wAwa § 2 Wi W H

in India ? mwmummﬁmm
wa | fgdta g wifw =t =0 aoyead ¥ 2 St 29 oy i o FOI 2 3+4+3=10
g. What is Alley cropping ? Give.merils and demerits 11. Explain, the High External Input and Low External
of it, in present agriculture. Input based agriculture. Give the methods to change
fafy yregm o € 2 adom e § 3 o 9 e  the High External Input based agriculture into
S T sustainable agriculture.
Section-C (@I3-9) sfy-arm @ fFra-sm fEw ufa $fw =
Long Answer Type Questions TaEd | fy-arm Few sufE $fY = fawrs
&d I ww) Ffy § wfaffa #@ = fafudl = s e 243+5=10
Note -— Attempt any rhree questions out of the following 12. Define cropping pattern. How is it differ from
five questions. Each question carries 10 marks. ~ cropping system ? Also explaine the principles for
Answer is required in detail. making the ideal cropping scheme. )
ﬁq%rﬁaaqﬁmgﬁﬁgﬁ?ﬁﬂwﬁj&rﬁ? g gfaed & gfafta Fifse) 98 = yoret |
?ﬁ%lmwm L T S ST fra yor = ¥ 2w oY YR A @R
e wgEa e #1 Seora wifg 2+3+5=10

9. What is conservation agriculture ? How is it differ
from orgamic agriculture ? Breifly explaine the main
principles and methods of conservation agriculture.

WeEY HY 7 ¥ ? T weif FY A R R
fa=1 ® 2 e wf @ g oo @ fafwt =

13. Give the full form of the following :
AR.ISR., PDFSR, FRIL, LES. OF, LER,
S.1, REY. M.T, S.R.L

fr=fafea =1 @ ™ fafa -

Ffya JuiF Fifen 2+3+5=10 T3RAR.CE. AR, 9 TE AR, TH :g
AE.THRTE., STE, TEIIR, THIAR,
10. What do you understand by green revolution ? s i, T, TEHITE | 10

Give their ill-effects in Indian context. How

s%lstainable agniculture play a vital role in this
direction ? NR-188 (4)
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